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Correlationr = 0.5
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Correlation r = -0,9%

o A

3

3
E
H
=
& b E]
H =
H B
H - s
~ 2 o
i ? E % 2%
H H
H E & . & s .
3; ® 2 ® 2
3 # i ' g s @
ZE g Y 2 . Z g .®
: E
i .
e & E P
H = =
i 2 #
H # - = 2 8%
i = 1
H ] i =
H H
: B % i 4
: El
i LR S 2 » % 2
. %
§ : R
H 17
H -
: & £
! H
i H
H 5 H
i 3 T Y 1 v
H ¥
i 2 %
i L coonaont
5
H . ;
H it £3
H " p
f.;ﬂmmw IR SRR R
:
xz %
] a3
; %
3 g
1 - .
: . .
_ 2 F
z " -
B #4448 9 @
S
A s2 2
: E B
] ® 3 E
; L s 8
23 »
= ¥ s X @
: P 4 :
; 2 }
- A ) H
§ §
z 2 :
2 E ]
# : L
® £
2 3
: # ;
H o ':%{m
g T v + T : &fég B E 1 %
i ARSI



Use the scatiergrams A-F to answer all of the questions on this page.

iatch the following o the scattergram which best fits the description.

&, Perfect positive corrslation {r=1)

&. Strong positive correlation {r = 81}
7. Weak positive comelation (1= .3}

8. No correlation {r = 0}

g. Strong negative cormelation {r = -.85)

10. Perlect nepative corelation (T = -1}

Mztoh the following varizbies 1o & suitable scattergram.
11. ¥ = infant age in days, y = length in inches
12. x = years smoked, y = years you will live
13. x = height in cm, y = GPA

14. ¥ = weight in pounds, y = weight in kilograms
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Epola @ gorlias, The deadly Ehola virus is & threat both people and goril
las in Central Africa. An outhreak in 2002 and 2003 killed 91 of the 95 gorillas &

7 home Tanges in the Congo. To study the s

b

rend of the virus, measure “distance

by the number of home ranges separating a group of gorillas from the hirst group n
ied B ere are data on distance and number of days il deaths began in each late
ecred ; £

I
grou:

Distance 1 3 4 4 4 3
Drays 4 2% 33 41 43 _46

{(a} Make ascaterplot. Which is the explanatory variable? The plot shows a posi
rive linear pattern,

(b} Find the correlationt step-by-step. First ind the mean and standard deviatios
of each variable. Then find the six standardized values for each variable. Finally
use the formula for . Explain how your value for 7 matches your graph in {a)



Strong association but no correlation. The gas mileage of an automobile first

increases and then decreases as the speed increases. Suppose that this relationship is

lar, as shown by the following data on speed {miles per hour) and mileage

very Tegu
'imﬁec per gallon}:
Speed 20030 40 50 &0
Mileage 24 28 30 18 24

Make a scarzerplot of mileage versus spee d. Show that the correlation between speed

wnd mileage is 7 = C. Exp_a n why the correlation is C even though there is a strong

relationship berween speed and mileage.
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